Tricky

Whitney is working out 49 + 4 using a place value chart.

E- Complete the divisions.
© 100

O oo a) 47 =3 = e) 49 -6 =
o o0 ©
O oo b) 26 = 5 = f) 47 - 4 =

Why is there one counter left over? c) 89 +4= g) 74 +3=

Complete the division.

d) 32 +5= h) 81 +7=
49 = 4 =
L1

Complete the divisions.

a) 36+4= Q45+3= b) 70 + 5 = d)92:4=
37+4= 4% +3 = 71+5= 91+4=
38+4= 47 + 3 = 72 5= 90 + 4 =
39+4= 48 + 3 = 73 5= 89 + 4 =
40 + 4 = 49 - 3 = 74 = 5 = 88 +4 =

Trickier — Complete fluency questions b and d from tricky section above before you tackle these questions

Dora has been working out some divisions.
Teddy is dividing 85 by 4 using place value counters.

(€&®
0000000000000 - 72 + 4= 18
First, he divides the tens. Then, he divides the ones. 73 + 4 =18 r1
Tens Ones Tens Ones 74 + 4 =18 r2
00 00| 0 75 + 4 = 18 13
Q0 Q0| ©
Q0O Q0| ©
Q0 00| © I know without

working it out that 76 + 4
Use Teddy’s method to calculate: must be 18 r4

86+4 87+4 88+4 97+3 98+3 99=+3

a) Why does Dora think this?
Eggs come in boxes of 6

b) Explain why Dora is wrong.
Annie has 75 eggs. 4 ) Exp Y 9
She wants to know how many boxes she can fill.
a) Complete the division to work it out.
’ |'| |=| H:I Trickiest — Complete Annie Question and Eggs question from
Complete the sentence. Trickier before tackling the questions below

Annie can fill ‘:’ boxes with ‘:’ eggs left over.



Whitney uses the same method, but some of her calculations

involve an exchange. v

Ters Ores
88 gggo Use Whitney's
000000 method to solve
\ 57 -4
000000 o
“ 58+ 3

Jack hos these bulbs 37 sweets are shared between 4 friends. ~ Whitney is thinking of a 2-digit number

that is less than 50
W Daffodils 49 How many sweets are left over?
) ) When it is divided by 2, there is no
& Tulips 63 Four children attempt to solve this remainder.
problem.
9 Crocuses 98 When it is divided by 3, there is a
N Alex says it's 1 remainder of 1
Equal numbers of each bulb tinto 4 tubs. it’
H:: r::r:n :frse:c: :qulb :vill:: i:ueaI:hotub: 5 ; :::40 s It,s % 1 When it is divided by 5, there is a
0 ' * vasaysIts o r remainder of 3

. Jack saysits8r5

. . What number is Whitney thinking of?
Daffodils Tulips Crocuses
El I:l D Can you explain who is correct and the

How many of each bulb will be left over? mistakes other people have made?
Daffodils ‘:I Tulips ‘:I Crocuses \:l Rosie writes

)
How many tubs could Jack use so that there are no bulbs 85+3=28r1
left over?

She says 85 must be 1away from a
multiple of 3
Do you agree?

Answers - Tricky
Why is there one counter left over?

It (s o  remounde Complete the divisions.

a) 47:3=| |5¢4 e 49:6=| 2 |

Complete the division.

b) 26 + 5 = - a7 :4=|1\¢5
49+4= ) Sel f) 1\

) 8:4=|20 | 9)74=3=|0lr2

Use place value counters to complete the divisions.

5o+4= s1:a=[ 105 | 932:5=| (2 h)81+7=|1lry

1) 36:4=| 9 Q) 45 =3 = S 70+5=| |y d92:4= 79
37:4=| O¢| 46 :+3=| |5 711+5=| el 91:4=| 00,3
38:4=|Q,.9 47:3=| IS-2 72+5=| (ur) 90+4=|79.9
39:4=| 0.9 8:3= 4 B3+5=] \4ed 89+4=| 0] |
40+4=| 10 49+3=| |[e| 74:5=| Ll 88:4= 79




Trickier

Why does Dora think this?

Eggs come in boxes of 6

Annie has 75 eggs.

Sho  hap smotted o paktern

Explain why Dora is wrong.

You  comt hame

& rUY\(W\dJ/ o U

a) Complete the division to work it out.

[25]-Le ][ ]3]

whon  diinding by

Trickiest

Daffodils Tulips Crocuses

How many of each bulb will be left over?

Daffodils iI] Tulips Crocuses

How many tubs could Jack use so that there are no bulbs
left over?

Rosie writes,
85+3=28r1

She says 85 must be 1 away from a
multiple of 3
Do you agree?

37 sweets are shared between 4 friends.

How many sweets are left over?

Four children attempt to solve this
problem.

. Alex says it's 1
. Mo saysit's 9
. Evasaysit's9r1

. Jacksaysits8r5

Can you explain who is correct and the
mistakes other people have made?

57+-4=14r1
58+4=14r2
58+3=19r1

| agree, remainder 1
means there is 1
left over. 85 is one
more than 84
which is a multiple
of 3

Alex is correct as
there will be one
remaining sweet.
Mo has found how
many sweets each
friend will receive.
Eva has written the
answer to the
calculation.

Jack has found a
remainder that is
larger than the
divisor so is
incorrect.

Annie can fill boxes with eggs left over.

¢ 86+4=21r2 9S7+3=32r1
She wants to know how many boxes she can fill. 87+4=21r3 98+3=32r2
88+4=22 99+3=33

Whitney is thinking of a 2-digit number
that is less than 50

When it is divided by 2, there is no
remainder.

When it is divided by 3, there is a
remainder of 1

When it is divided by 5, there is a
remainder of 3

What number is Whitney thinking of?

Whitney is thinking
of 28




